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aka midtpunktsmetoden!
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it=0, h = 1.0000000000, E_mid=3.6e-02, E_est=4.2e-02
it=1, h = 0.5000000000, E_mid=8.8e-03, E_est=1.0e-02
it=2, h = 0.2500000000, E_mid=2.2e-03, E_est=2.6e-03
it=3, h = 0.1250000000, E_mid=5.5e-04, E_est=6.5e-04
it=4, h = 0.0625000000, E_mid=1.4e-04, E_est=1.6e-04
it=5, h = 0.0312500000, E_mid=3.4e-05, E_est=4.1e-05
it=6, h = 0.0156250000, E_mid=8.6e-06, E_est=1.0e-05
it=7, h = 0.0078125000, E_mid=2.1e-06, E_est=2.5e-06
it=8, h = 0.0039062500, E_mid=5.3e-07, E_est=6.4e-07
it=9, h = 0.0019531250, E_mid=1.3e-07, E_est=1.6e-07
it=10, h = 0.0009765625, E_mid=3.3e-08, E_est=4.0e-08
it=11, h = 0.0004882812, E_mid=8.4e-09, E_est=9.9e-09
it=12, h = 0.0002441406, E_mid=2.1e-09, E_est=2.5e-09
it=13, h = 0.0001220703, E_mid=5.2e-10, E_est=6.2e-10
it=14, h = 0.0000610352, E_mid=1.3e-10, E_est=1.6e-10
it=15, h = 0.0000305176, E_mid=3.3e-11, E_est=3.9e-11
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(litt høyere feil en 
midtpunktsmetoden)

(vesentlig lavere feil)
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it=0, h = 1.0000000000, E_mid=3.6e-02, E_trap=7.1e-02, E_simp= 3.3e-01
it=1, h = 0.5000000000, E_mid=8.8e-03, E_trap=1.8e-02, E_simp= 3.0e-04
it=2, h = 0.2500000000, E_mid=2.2e-03, E_trap=4.4e-03, E_simp= 1.8e-05
it=3, h = 0.1250000000, E_mid=5.5e-04, E_trap=1.1e-03, E_simp= 1.1e-06
it=4, h = 0.0625000000, E_mid=1.4e-04, E_trap=2.7e-04, E_simp= 7.1e-08
it=5, h = 0.0312500000, E_mid=3.4e-05, E_trap=6.8e-05, E_simp= 4.5e-09
it=6, h = 0.0156250000, E_mid=8.6e-06, E_trap=1.7e-05, E_simp= 2.8e-10
it=7, h = 0.0078125000, E_mid=2.1e-06, E_trap=4.3e-06, E_simp= 1.7e-11
it=8, h = 0.0039062500, E_mid=5.3e-07, E_trap=1.1e-06, E_simp= 1.1e-12
it=9, h = 0.0019531250, E_mid=1.3e-07, E_trap=2.7e-07, E_simp= 6.8e-14
it=10, h = 0.0009765625, E_mid=3.3e-08, E_trap=6.7e-08, E_simp= 3.4e-15
it=11, h = 0.0004882812, E_mid=8.4e-09, E_trap=1.7e-08, E_simp= 6.7e-16
it=12, h = 0.0002441406, E_mid=2.1e-09, E_trap=4.2e-09, E_simp= 2.3e-15
it=13, h = 0.0001220703, E_mid=5.2e-10, E_trap=1.0e-09, E_simp= 7.8e-16
it=14, h = 0.0000610352, E_mid=1.3e-10, E_trap=2.6e-10, E_simp= 1.4e-15
it=15, h = 0.0000305176, E_mid=3.3e-11, E_trap=6.5e-11, E_simp= 1.6e-15
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Menti-undersøkelse

Gå til menti.com og tast inn koden 86 01 66


